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Note: this session picks up in the middle of the discussion of w”7's approach to n51ap anw and whether P18 N8V would obtain, or, as
NYWIN "1 claims, that it is invulnerable to 8”10; to that end, this seminal Nnovinis cited again.
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I Challenge to ®»WIR “1: end of RnavIn - v™7’s opinion re M and 51y, explicitly states that n>»an nman has 8o
a  Resolution/defense: that is a case where it had 9v1n nyw; v would be applied to case with no 7w1n nyw
i Circumstance: where he was w1pn while grain was still in ground (had no point where X" could have applied
when it would be edible) — note: at that point, it would have only had o7 nwv1Tp, not a”"mTp
1 Challenge: he could have redeemed it and generated 1w nyw
2 Answer: if we accept version of X" (p. 86) contra YR, that we may not redeem 21”072 w7 if DNV — fine
(a) But: if we accept other version — he could have redeemed it
(b) And: should we answer that since in fact he didn’t redeem it, that is irrelevant — but
(i) w77 holds that anything which could be redeemed is considered released, per:
(ii) Ar77772 W™ rules that n1a has 8o
1. Explanation (577): " maintains that 19 may be redeemed right at no'nw
2. Block: in that case, it is proper to redeem it if a better n19 is found, unlike mmnin
(c) challenge: in XnavIN (above), v excludes np» i 7195 19 from ®"v, even though they should have per-
formed np>1 before evening - to w1, “should have” does not equate to “did”
(i) defense: circumstance of Xnavin was where it was slaughtered too late for np»1t
(ii) challenge: then the Xnavn should add that if there was time for 711, X" obtains
1. answer: indeed, that’s what it means — if it was 1> before np»1 was possible, then ®"v applies
(iii) challenge: 5wa — whether 1"pp or 9"p1p — where it is a mx¥n to perform 1”77t — yet no "o
1. answer: case is where 9132 was at N0'nY (no 111 NYY and 7”77t wouldn’t have prevented %119)
2. challenge: then the xnavin should have made that distinction explicit
a. answer: had to use NVY'NY as Ya-point, to contrast with nmn — where n¥np (:10°NY) is the
9ma-point, is X"V RnwvY, since it had a permitted moment (before w1pn)
ii @7 'wx "1 11 —no need to theorize that the no’nw was done late etc. — could even have had time
1  reason: while ™ applies “could have redeemed”::redemption, doesn’t apply “could have done 7”0 1" ::np»t
(a) challenge: yv1 '7's rule: anything which had 023035 9n°n nyw is already unbound from n%yn; if it never
had ©»1n3% 0 nyv, still bound by n%yn
(i) examples of 7rn YW 75 AT MY OF RNV OF NRY
(if) examples of ...75 anin &% if vnwi with intent NMPN IR NINTY YIN or DT was received/pan by P50
1. note: mention of MY etc. proves that “should have” = “performed”
2. block: case is where it was “fit” for nrRmv ,n1Y etc. (i.e. had been properly processed)
a. challenge: wording should have been -2nn n% v, not 1m’n nyw
(b) answer (»wx 77): cannot use rule of n%yn to challenge kMY
(i) Aopm:is defined by nwyTp; once NwITP is gone (fit for Np»T) can’t restore it
(if) Awmv: defined as “edible” (for X"v) — if he could have performed np»r = becomes “food”
(c) Challenge: if someone brings an nYn nwr and then finds out that he didn’t sin
(i) If: he finds out before nvnw:
1. »7: the animal is PN
2. opon: it grazes (until it gets a DN, is redeemed and money used for N% nam)
3. 871 offer it as "9n nwRr (follows his approach that ®>n nwr may be brought as nam to cover “sins”)
(if) If: he finds out after nvo'nw, the o7 is spilled out and the meat burned (outside on 1v7)
(iii) If: he finds out after 7”071, meat is eaten (considered as valid)
1. »0»> “1 even if the 07 was in the chalice, considered as if p711 (= meat eaten)
a.  ANa7" was utilizing w"’s approach — 7 P pIY TN 91
(iv) Defense: that's not the reason; in "R, explain that »1 holds — 29’9 pY1080 NR PYTPN NI Y
ili 975 2wx 1 since W™ ruled ...pA0Y TN Y3, he should hold M7 911w 99w TMYn 93;
1 Ifso: why are nnyTR M1a or Inn vulnerable to 8" — they should be considered “burnt up”
2 Answer: wTpn N2 (their value for use for vTpn) makes them considered “food”
(a) Question (8”15 8¥1227): does that also set them within the system of X0 (v ,1wR etc.)?
(b) Perhaps: that will settle 9"1’s question about X"V for dry piece of nnmn (doesn’t — he was asking n”nn)
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